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PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

76- I’ve heard that it helps to lower blood sugar ----------- you feel less hungry and
unconsciously eat slightly fewer calories.
1) so that 2) however 3) whereas 4) in order to
77- Alexander Solzhenitsyn, ----------- the Nobel Prize in 1970, wrote several novels.
1) awarding 2) awarded 3) who awarded 4) was awarded
78- I ----mmmem- to football practice yesterday, but I had a bit of a stomachache.
1) must have gone  2) can’t go 3) couldn’t have gone 4) should have gone
79- We bought a ---------- chest of drawers for the bedroom.

1) big wooden new  2) new wooden big 3) new big wooden  4) big new wooden
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80- Jim Carrey’s movies made those who saw them ---------- both excited and alive at the
same time.
1) by feeling 2) feeling 3) feel 4) to feel
81- Drinking a lot of coffee can --------------- your blood pressure.
1) control 2) raise 3) destroy 4) measure
82- She felt nervous, increasingly lacking in --------------- about herself.
1) guidance 2) confidence 3) promotion 4) connection
83- We are entering a point where technology will change at --------------- speeds.
1) extreme 2) distant 3) probable 4) irrelevant
84- She did not know the meaning of the word "plagiarism' until quite --------------- , when it
was explained to her.
1) immediately 2) basically 3) actually 4) recently
85- It was still her house and there were a lot of good memories --------------- to it.
1) located 2) mentioned 3) attached 4) followed
86- We should pay attention to this point that happiness is a journey, not a --------------- .
1) destination 2) performance 3) training 4) source
87- The only -------=-=---mn thing left to do is to conclude peace talks as soon as possible,
before we are turned out of Petersburg.
1) complete 2) straight 3) reasonable 4) careful

PART B: Cloze Passage

Directions: Read the following passage and decide which-choice (1); (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Many people know that eating -a, vegetarian diet has important health benefits.
Vegetarians usually have lower levels.of heart disease, and studies (88) ---------------
that they have a lower risk of diabetes than people who eat meat. Most people don't
(89) -----mmmmmee- , however, that.a vegetarian diet is also better for the health of our
environment.

Recently, researchers from the Union of Concerned Scientists in the U.S. (90) -------
--- a report on-how consumer behavior affects the environment. Their study showed

that meat consumption is one of the (91) --------------- ways that humans can damage
the environment, second only to (92) --------------- motor vehicles.
88- 1) also showing 2) showed also 3) have also shown 4) also have shown
89- 1) realize 2) control 3) react 4) prepare
90- 1) located 2) speculated 3) enhanced 4) released
91- 1) artificial 2) main 3) domestic 4) formal
92- 1) the use of 2) the use from 3) use from 4) the use
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PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Kwanzaa is a holiday celebrated by many African Americans from December 26 to
January 1. It pays tribute to the rich cultural roots of Americans of African ancestry,
and celebrates family, community, and culture. Kwanzaa means the first or the first
fruits of the harvest and is based on the ancient African first-fruit harvest celebrations.
The modern holiday of Kwanzaa was founded in 1966 by Dr. Maulana Karenga, a
professor at the California State University in Long Beach, California. The seven-day
celebration encourages people to think about their African roots as well as their life in
present-day America.

The seven fundamental principles on which Kwanzaa is based are referred to as the
Nguzo Saba. These rules consist of unity, self-determination, collective work and
responsibility, cooperative economics, purpose, creativity, and faith. Participants
celebrate by performing rituals such as lighting the kinara. The kinara is symbolic of
the continental Africans. Each of its seven candles represents a distinct principle,
beginning with unity, the black center candle. Talking with-family, drumming, singing,
and dancing are all part of the celebration activities.

93- According to the passage, the holiday of Kwanzaa was created in order to --------------- .
1) celebrate African-Americans' harvesting skills
2) honor Dr. Maulana Karenga
3) encourage African-Americans to think about their roots

4) light the individual candles of kinara
94- Which of the seven principles does the black center candle of the kinara represent?

1) unity 2) faith 3) creativity 4) responsibility
95- Kwanzaa is celebrated by all of the following EXCEPT --------------- 8

1) drumming and rituals 2) dancing and singing

3) dialogue 4) solitude and silence
96- Kwanzaa, based on the passage, is ----------==--- .

1) the first corn of the harvest 2) the first fruits of the harvest

3) the first song of the month 4) the first dance of the night

PASSAGE 2:

The design of ships is governed by scientific principles and economic considerations,
but in practice it has many of the qualities of an art. The designer may be supplied with
the precise and detailed requirements of an owner, or he may receive only the barest
outline of requirements, such as the weight of cargo to be earned and the speed. The
dimensions chosen and the main characteristics at the ship are governed by the trade in
which the vessel is to compete. High-density cargoes such as iron ore require little
cubic capacity; low-density cargoes such as bananas require vast cubic capacity. The
ports which the vessel must enter may impose restrictions on length and draught.
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97-

98-

99-

Passages through canals may restrict both draught and breadth. The nature of the
cargo may determine the size of cargo holds and of the hatchways through which the
cargo is loaded and unloaded. Available facilities at the ports to be entered affect the
loading and unloading apparatus to be installed in the vessel.

It's clear from the passage that, when a ship is being ordered, the designer is often given
a lot of freedom in the type of design, but he will expect to be told -----=nmmv-mm .
1) exactly how big the cargo holds should be

2) about the route it will normally follow

3) the type of loading and unloading apparatus to install

4) what the ship will carry and how fast it will travel

We understand from the passage that the size of a ship --------------- ,

1) will reflect the type of goods to be carried

2) has relatively little bearing upon its cost

3) needs to be large if it is to have high-density cargoes

4) is unimportant so long as it does not have to pass through canals

A great many factors have to be considered in the design of a ship, --—------------- .
1) of which economic matters are the least important

2) in particular, the relationship between length and breadth

3) including regulations and conditions in the ports where it will call

4) but one of the least important is the cubic capacity needed for the cargo

100- The word "vessel" in the last line means ---------=---- g
1) route 2) ship 3) port 4) sea
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PART A: Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

101-

102-

103-

104-

105-

106-

107-

108-

109-

110-

He is the only player ------------- the team from defeat.

1) who might save  2) that he saves 3) to save 4) saves
Students ------------- until they ------------- the appropriate fee.

1) have not been admitted / have paid 2) are not admitted / will pay

3) will not be admitted / have paid 4) will not be admitted / will pay
------------- gently, the fabric should lost for years.

1) To treat 2) Treated 3) Having treated  4) Treating
------------- willing to accept the increase in coursework.

1) Neither of students are 2) Neither students are

3) None students is 4) None of the students is

How long ------------- living there before the war ------------- ?

1) were you been / had broken out 2) are you / has broken out

3) have you been / broke out 4) had you been / broke out
------------- our offer, we could avoid the costs of a court case.

1) Were you to accept 2) Would you accept

3) Have you accepted 4) Had you accepted

I don't KNOW --=-=v-neenen be able to get permission from my parents.

1) I will whether 2) I whether will 3) whether I'will 4) whether will I
------------- you haven't got these qualification doesn't necessarily mean you won't be able
to enter the university.

1) It's a fact that 2) The fact

3) The fact that 4) The fact is that

My sister won't give up her present job. I'd just as soon she ------------- .

1) does 2) did 3) will 4) would
| you as soon as I ---—-==--—-—--- with the report.

1) will call / have-finished 2) will call / will finish

3) call / finish 4) have called / will finish

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

111-

112-

113-

114-

115-

A number of major charities are ------------- their efforts to send out food to the areas
worst affected by the famine.

1) dominating 2) commenting 3) excluding 4) coordinating
According to the Government ------------- , a number of deputies are worried about the
current issue.

1) policies 2) structures 3) sources 4) contexts

Seals and polar bears can live in the ------------—- cold of the North Pole.

1) deficient 2) extreme 3) exact 4) ineffective
Middle-income families cannot pay ------------- high monthly interest charges.

1) absurdly 2) culturally 3) fashionably 4) intensely

Oddly enough, she didn't ————— anything to us about the fact that she was getting married.
1) abolish 2) extend 3) hesitate 4) mention
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116- A chameleon is a kind of lizard known for its ------------- to change hue.
1) magnitude 2) disorder 3) ability 4) patience
117- The dying man's speech was s -----------=" that no one was able to interpret his last
request.
1) impotent 2) nonchalant 3) indiscreet 4) incoherent
118- Has your sister ------------- decided that she will go to England? - Yes, she is determined
to go.
1) comfortably 2) identically 3) definitely 4) similarly
119- Even today a man who stays at home to look after the children is ------------- as
something of an oddity.
1) regarded 2) integrated 3) resumed 4) preserved
120- Our house was in a terrible ------------- when we were having the central heating put in.
1) device 2) mess 3) tradition 4) regulation
121- You and the person with whom you share an apartment must be -----------—- .
1) notorious 2) compatible 3) skilful 4) equivalent
122- Being too busy all the time, the secretary doesn't ------------- stop working to have lunch.
1) normally 2) ultimately 3) variously 4) hardly
123- The institute ------------- all its money from foreign investments.
1) exports 2) creates 3) derives 4) responds
124- These automatic cameras have a special focusing ------------- ]
1) output 2) profession 3) mechanism 4) implementation
125- There is still no ------------- research that supports Darwin's theory.
1) valid 2) minor 3) various 4) initial

PART C: Sentence Structure

Directions: Choose the sentence with the best order for each of the following series. Then

mark the correct choice on your answer sheet.

126-

127-

128-

129-

1) I know what you mean. Not he's only arrogant but he's also misinformed.

2) I know what do you mean. Not-only he's arrogant but also misinformed.

3) I know what do you mean. He's not only arrogant but he is misinformed also.
4) 1 know what you mean. He's not only arrogant but also misinformed.

1) I have the same record at home. Would you like borrowing of me?
2) I have the same record home. Would you like to borrowing of mine?
3) I have the same record at home. Would you like to borrow me?

4) T have the same record home. Would you like borrow mine?

1) It took me three hours to complete my assignment.

2) Three hours took me to be completed my assignment.

3) Three hours it took me that completing my assignment.

4) Tt took for me three hours that be completed my assignment.

1) I might have done better my speech if I have had more time.
2) I could do better my speech if I had had more time for it.

3) I could have done better my speech if I had had more time.
4) I might do better if I have had more time for my speech.
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130-

1) That's one of my prettiest dress I'm wearing.

2) That's my prettiest dress as I have that I'm wearing.

3) That's the most pretty dress as I have that I always wear.

4) That's one of my most pretty dress I have and always wear.

PART D: Language Functions

Directions: Read the following conversations between two people and answer the questions

about the conversations by choosing one of the choices (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet.

131-

132-

133-

134-

135-

136-

137-

138-

139-

140-

A: You can't believe who I -------—-—-—- last week!

B: Whe?

1) came about 2) ran into 3) got ahead 4) caught on
A: Can I -------nmmm- you to repair my car by six?

B: Of course.

1) turn up 2) rely on 3) bring up 4) lead on
A: Can you come with me to London?

B: No, I have to --------——-- all the work I missed whlle I was ill.

1) look up 2) put off 3) try out 4) make up
A: T really like your flat. It's very spacious.

B: Oh, -----—--eeem- ! You're just saying that!

1) call off 2) give up 3) go.on 4) stick to

Y e , what time is it?

B: It's about 1:30.

1) I'm afraid 2) Go ahead 3) All right 4) By the time
A: Would you mind if I went tothe university?

B: il

1) Don't Worry 2) Not at all

3) No trouble 4) Don't mention it

A: Want to come to the beach with me if it doesn't rain?

B: - . It's'very hot out and I burn easily.

1) No, I don't think so 2) I'd guess to

3) That's in the way 4) Yes, I'd love to

A: Do you listen to weather forecast?

B: Yeah, she says that we are --------—---- a sever snowstorm.

1) few and far between 2) in the light of

3) in for 4) all in

A: I feel very bad.

B: - e and don't look down. The rescue party are climbing up the cliff to save us.
1) Make no mistake about 2) Chance your arm

3) Push your luck 4) Keep you head

A: Do you exercise in the evenings?

B: No, I do my exercise ----------—- , before I have my breakfast.

1) first thing 2) in the offing 3) on the ball 4) in the bag
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PART E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Successful wildlife watching tourism requires sound plans as the basis for managing
the watched populations and their habitats. Because of the uncertainties (141) ----------
with understanding the effects of wildlife watching on animals, and keeping in mind
the (142) -------------- nature of tourism, it is particularly important to use "adaptive
management" approaches for managing wildlife watching tourism. Adaptive
management requires plans and objectives for wildlife and tourism, in combination
(143) ---------m---- continuous monitoring and evaluation of tourism and its effects on
wildlife, to check that the objectives (144) -------------- in the plans are being met. If
they are not being met, management actions are adjusted as necessary (145) ------------
wildlife watching tourism into line with the planned objectives.

Effective (146) -------------- of plans often requires the interaction of different
stakeholders, particularly tourism businesses and local communities and wildlife
managers. A good understanding of stakeholder roles is necessary (147) --------------
wildlife watching tourism is to (148) -------------- in ways that result in high quality
tourism, effective conservation and (149) -------------- local community benefits.
Participatory approaches to planning wildlife watching tourism are being used
(150) --------==---- ; successful examples of stakeholder participation (151) --------------
the adoption of a voluntary code of conduct for whale watching in Peninsula Valdes,
and the establishment of no-fishing (152) -------------- and dive sites as part of the
overall zoning of Bunaken National Marine Park.

(153) -—--mmmeemee- is used to check whether targets are being met or not.
Management actions are adjusted and (154) =---=--------- to achieve these targets in
future. This adaptive management approach enables (155) -------------- improvement to
be made in management actions for conservation, tourism and community benefits -
based on lessons learned from day-to-day management experience.

141- 1) that they associated 2) which they associate
3) associated 4) associating
142- 1) dynamic 2) obvious 3) complex 4) exact
143- 1) for 2) on 3) with 4) to
144- 1) stayed 2) counted 3) called 4) set
145- 1) bringing 2) to bring 3) bring 4) that bring /
146- 1) foundation 2) implementation  3) estimation 4) inspiration
147- 1) if 2) for . 3) so 4) as \
148- 1) conform 2) supply 3) release 4) operate
149- 1) available 2) probable 3) tangible 4) individual
150- 1) abruptly 2) likely 3) widely 4) merely
151- 1) vary 2) assume 3) obtain 4) include
152- 1) concepts 2) zones 3) aspects 4) choices
153- 1) Monitoring 2) That monitoring 3) Monitor 4) That monitors
154- 1) improved 2) removed 3) imitated 4) expelled
155- 1) different 2) precarious 3) evitable 4) continuous
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PART F: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:
The composer Wolfgang Amadeus Mozart's remarkable musical talent was apparent

even before most children can sing a simple nursery rhyme. Wolfgang's older sister
Maria Anna (who the family called Nannerl) was learning the clavier, an early
keyboard instrument, when her three-year-old brother took an interest in playing. As
Nannerl later recalled; Wolfgang often spent much time at the clavier picking out
thirds, which he was always striking, and his pleasure showed that it sounded good."
Their father Leopold, an assistant concertmaster at the Salzburg Court, recognized his
children's unique gifts and soon devoted himself to their musical education.

Bomn in Salzburg, Austria, on January 27, 1756, Wolfgang had composed his first
original work by age five. Leopold planned to take Nannerl and Wolfgang on tour to play
before the European courts. Their first venture was to nearby Munich where the children
played for Maximillian III Joseph, elector of Bavaria. Leopold soon set his sights on the
capital of the Hapsburg Empire, Vienna. On their way to Vienna, the family stopped in
Linz, where Wolfgang gave his first public concert. By this time,"Wolfgang was not only
a virtuoso harpsichord player, but he had also mastered the violin. The audience at Linz
was stunned by the six-year-old, and word of his genius soon traveled to Vienna. In a
much anticipated concert, the Mozart children appeared at the Schonbrunn Palace on
October 13, 1762. They utterly charmed the emperor and empress.

Following this success, Leopold was inundated with invitations for the children to
play, for a fee. Leopold seized the opportunity and booked as many concerts as
possible at courts throughout Europe. A< concert could last three hours, and the
children played at least two per a day. Today, Leopold might be considered the worst
kind of stage parent, but at the time, it was not uncommon for prodigies to make
extensive concert tours. Even so, it was an exhausting schedule for a child who was
just past the age of needing an afternoon nap.

156- A good title for this passage would be -------------- R
1) Stage Parents: A Historical Perspective
2) Mozart: The Early Life of a Musical Prodigy
3) Mozart: The Short Career of a Musical Genius
4) Classical Music in the Eighteen Century: An Overview

157- According to the passage, Wolfgang became interested in music because -------------- i
1) he had a natural talent
2) he came from a musical family
3) his father thought it would be profitable
4) he saw his sister learning to play an instrument

158- What was the consequence of Wolfgang's first public appearance?

1) Leopold set his sights on Vienna.
2) Word of Wolfgang's genius spread to the capital.
3) He charmed the emperor and empress of Hapsburg.
4) Invitations for the miracle children to play poured in.

abadgaranedu.ir



YV dxio eSS olais! ;s

159-

160-

161-

162-

163-

164-

165-

Each of the following statement about Wolfgang Mozart is directly supported by
passage EXCEPT --------n-nmn-
1) Maria Anna was a talented musician in her own right
2) Mozart's father, Leopold, was instrumental in shaping his career
3) Wolfgang preferred the violin to other instruments
4) Wolfgang's childhood was devoted to his musical career
Based on information found in the passage, Mozart can best be described as -------------- :
1) the greatest imposer of the 18" century 2) a victim of his father's ambition
3) a workaholic 4) a child prodigy

PASSAGE 2: s

Plague is a disease carried by animals, primarily by rodents, and by people. It was
widespread in Europe, where in the 1300s, 25 million people died and raging
epidemics spread as late as the latter part of the seventeenth century. Once people
became aware of the fact that plague was spread by rats that carried the epidemic on
ships from one port to another, rodent extermination put an end to the devastating
plagues in the world. In the United States, plague occurred in epidemic strength in San
Francisco in 1900. Intensive rat control measures were employed immediately, but
squirrels in the area had been infected and had to be destroyed too. Descendants of
these rodents continue the infection and have transmitted it to other,fodents such as
prairie dogs in the western and southwestern parts of the United States. The plague is
endemic to those areas that are sparsely populated. Therehave been scattered cases of
plague since 1900, but not serious outbreaks.

You can infer from the passage that there were no farther-raging plague epidemics -------—--- 1
1) in Europe 2)-after the 1300s

3) in San Francisco 4).after the 17™ century

The western and southwestern parts of the United States --------------

1) still have serious outbreaks of plague

2) are the habitat of infected rodents

3) have large populations

4) are sparsely populated because of the plague

Plague is spread by ---------==--- .

1) rats 2) ships

3) rodents and people 4) prairie dogs and squirrels
Raging epidemics ended in Europe when --------------

1) rats were exterminated 2) 25 m11110n people had died

3) ships were not allowed in foreign ports 4) populations moved out of the big cities
You can infer that in the late 1300s -------------- ’

1) intensive rat control measures were applied 2) people were accustomed to the plague
3) Europe's population was very small 4) people were extremely poor

PASSAGE 3:

Being able to land safely is a critically important skill for all flying animals. Whereas
terrestrial animals face no particular challenge when they need to stop running or
crawling, flying animals move at much higher speeds, and they must be careful about
how they land. Hitting the ground, or even water, at full flight speed would be quite
dangerous. Before touching down, they must decrease their speed in order to land
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166-

safely. Both bats and birds have mastered the skill of landing, but these two types of
flyers go about it quite differently.

In the past it was believed that, in terms of flying mechanics, there was little
difference between bats and birds. This belief was based only on assumption, however,
because for years nobody had actually studied in graphic detail how bats move their
wings. In recent years, though, researchers have discovered a number of interesting
facts about bat flight. Bats are built differently from birds, and their wings incorporate
both their front and hind limbs. This makes coordinating their limbs more difficult for
bats and, as a result, they are not very good at flying over longer distances. However,
they are much better at maneuverability: a bat can quickly change its direction of flight
or completely reverse if, something a bird cannot easily do.

Another interesting characteristic of bat flight is the way in which bats land—
upside down! Unlike birds, which touch down on the ground or on tree branches, bats
can be observed flying around and then suddenly hanging upside down from an object
overhead. How do they do it? A group of researchers recently used video cameras to
film bats landing on nets suspended from the ceiling of their laboratory and studied the
recordings in slow motion. They painted spots on the bats' wings to see in detail what
happens to the wings in flight and during touchdown. It turns out that the bats flew in a
straight line up to the net and then quickly flipped over and attached themselves to it
upside down. One downside to this landing routine is that the bats often slam into their
landing spot with some force, which probably causes pain. However, not all bats hit
their landing spots with the same speed and force; these will vary depending on the
area where a bat species makes its home. For example, a cave bat, which regularly
perches on a hard stone ceiling, is more careful-about its landing preparation than a bat
more accustomed to landing in leafy treetops.

The main topic of the passage is --+------—-—

1) differences in the eating habits of bats and birds
2) ways in which bats move differently from birds
3) places where flying animals choose to land

4) why scientists have difficulty observing bats

BT P ey ’fv;s

167- In line 2, the word "terrestrial" is closest in meaning to -------------- .
1) ground -living 2) tree-climbing 3) fast-moving 4) high-flying

168- The crucial skill for flying animals is -------------- n
1) balancing on high branches 2) flying over great distances
3) diving underwater 4) slowing down to land

169- The advantage of bats over birds is -------------- .
1) can turn in the air more quickly 2) can land on a greater variety of surfaces
3) can eat while flying 4) are lighter

170- According to the passage, what helps determine a bat's landing speed?
1) What it eats. 2) Where it lives.
3) How old it is. 4) How big it is.

o @sanj esheducatlongroup R ‘,Mlo 3T sBy90yT ,e' ,ﬂa Jbl.f

6“"“’; Mz Gt b it (UAT jglio &y ‘gs-*ué gsl“‘-’w JolS aflas o5l @ gn ol 5336 ol

vatsan‘}eshshop ir (e o] Ay 35) (WSS At [y iy 49 A i LS Acg02x0 ,Lu!.,w!z

abadgaranedu.ir



